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BT & TTTREBAHPRE ARV — RV X LROSALIEA,
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BOEIETARRE FEBBHEE) BERE (19944) (F2H (1)) AEk—EHE:
#Ffolx)=x+22+ - +2" (n=2,3,...), FH:
(i) AR fu(x) =17 [0, +00) NEME—MER x,;
(i) 3K lim 2.
7 [2] SRR T AT
(a) HRE fu(z) =1 7E (5, 1) WABE—MER;
(b) & x, € (3,1) & fulz) =1 1R, Al lim z, = 2o
RIE Sefa HE — RN — M MR, BIATTRY
B R f(x) E’J%%M% (Maclaurin) BRI HES [, BH o, BE o <
H [, 8] C I 4 Pu(z) = kzo OOk 35 f(z) B Pa(z) 7 (o, B) RS BHEERRY, B
HPRBENEE A\, P(a) — X Pn(ﬁ) — X &5 AF
(1) A& P.(z) =\ & (o, 8) NEHE—ER z,;
(2) lim @, = f71(N), H f7H RR f RREE
%T%Eﬁ;ﬁ@ B ERNHEO TR
SIIE FIEM (Abel) TR FHERH Z anx™ KA ER R, A
() 5 " 4E (~R,R) PRS0k, A [a,0] € (—R, R) -:—Bultsk;

(i) # 3 a,o” 48 @ = R ik, AIEEEEIER (o, B C (-R, Bl k30l
HEIEWEIAR (3],
TE PR RA:
(1) B Po(a) =\, Po(5) — X R, R Po(x) A B [0, 5] _LHOEEERM, detiEl
BRI EEEBEIEAAE P(2) = A E (0, ) NESHE—EER, X Py(c) & (0, 5)
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NEBIEERHE, SR P.(x) = XN & (o, B) REEEE—MEER 2,0
(2) B [(z) = Pa(z) = R(2), 8 2, € (o, ) Al

f(zn) — Ru(xn) = Po(z,) = A

HETHEE[EA {P,(v)} 7 [o, 8] E—BE R f(x), WAE [«, 5] £ {R.(z)} —3K
W 0o IS | Ry ()] < st |R,(x)|, B lim 51[1p |R,(z)] =0, #& lim R, (x,) =
z€[a,B J:

0, Bl lim f(an) = Ao XEAR f(z) R (o, 0) PR B LB, 0 £ (v) LA
B, AT

lim 2, = lim £~ (F(@a) = £ (lim (@) = £ ().

%m¢x&wm%gmmfuy:i;:§xmf<x<1%a@y:§xh:
=0 =0
fn<$')+1,)\:2,0é:%, :%,[@,B]C(_l,l),%nZQﬁ,
P<1> P B Y
2 2 22 AL ’
9 9 92 9\3 9\"
P(—=)-2== — et (=) —1
<0> 10+<10) +<10> * +<10) >0

Eae (308 f@) =550 >0 P) = zmﬁ1>0%ﬁﬂ) n (1) 12
(1, 2) MEBKERESR, F lJP()—QEUh()—IT(mw)Wﬁ% BR 20
X fH ) =24, f71(2) = 5, B lim @, = 5o

M (L, 2) c(3,1) co,+ )l%wﬁmémw&jo

T T P S 4 () T 338 — S E A E

BIl: B go(a) =+ + 8 4+ 2 (n=2,3,...), BH: HE g(z) =1 %
(0,1) NHME—FEHR 2, B lim 2, =In2

2 (—00 < T < +00), P,(z) =
0o k

zk

18
M=

FH: EEBNEEFI f(z) =" =
gn(x)+1,A=2,a=0,=1

%Pn(o)—2:—1<0 P(l) 2=g+g+ - +5>0 XExe(01)H,
fl(z) = e > 0, P(z) = }3 © >0, #Ti f(2), Pu(z) T (0,1) PG BRI, ALl
Pu(z) =2, B g,(z) = 1 %E (0,1) WEE—FR 2,0

B fHz) =Inx, f71(2) =1n2, AT lim z, =In2

BI2: B hy(zv) =2+ 5 + 2+ +ﬂ”lm:1@,”;%%;ﬁﬁh4@:§az

2n+1

(0,1) FEME—ER v, B lim z, = &5,

k 0
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B EEBHEETR [(2) = jnlE = S 401 <o < 1), Po) =

N 2k+1 1 1
P} = hn(2), A =35, 0=0,0 =3

B P(0)—3=—3<0,P(3)—3=3%%++ 5+ 5w >0, X&
v e (0,1) B, fx)=1>0, Pl(a) = éox% > 0, @7 f(x), Po(x) 7 (0, 1) RBEE
SR, BT h(z) = Po(o) = L 2 (1,1) WA%—EIR 2,0

X fNe) = S FUG) = S BB lim @, =

+1°

BI3: B rp(z) =2 +222+323+ - +na" (n=2,3,...) BH: HE r,(2) =1 &
(0, %) AHME—HER 2,, B lim z, =2 /3,

=0 EEFNEETNR f(r) = N-ka( l<x<1), Pr)= 3 ka* =
ra(2), A =5, 0=0,0= 3

WE P,(0)—t=-1<0,P03)-1=2-L+3- 54+ - +n-£ >0 X&
v € (0,3) B, f'(x) = 4= > 0, Py(x) = ék“1>0ﬁ£ﬁﬁf() w(z) 7 (0,3)
P B BRSNS, FTA 1 (2) = Po(x) = 5 7€ (0,3) WEM—ER ,.

X [N a) = 20+ 1 — VA + 1), fH(E) =2 - V3, BBk lim @, =2 — /3,

Bld: B un(z) = ¢ — ?3_? + ag_? -t <_1>n+1& (n=23,..) #H: HkE

Un(l‘) = % E (07 %) mﬁnﬁ_‘g*ﬁ Tn E nll_)r]é.lol‘n = %o

B09: EEBMEEGW (o) = sine = 5 ()M G l(—00 <z < +00),
Pafe) = 2 (=DM gy = un(@), A= 5,0 =0, 8= 1,

R P(0)— 1= 1 <0,

3 1 1 1 /3\* 1 /3\° 1 3\t
P(Z)—-===—=(= —_ (= R | N+17<_>
<4> 21 3 (4) 5 <4> et T g Tyil\e) o 20

Xz e (0,2) B,

IL‘2 IA 2n—2

f'(x) =cosxz >0, Pl(x )_1_§+J_ --+(—1)"+17'>0’
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T f(x), Pu(2) 78 (0,3) WEAREIRESE, Fil u,(z) = Po(z) = 5 1 (0,2) NEME—

X f~Y(x) = arcsinz, arcsin 3 = £, fill lim 2, = %,
n—oo

BIS: B v,(2) =0 -4+ — (=) (n=2,3,..), B AR v,(r) =

n

# (0, 1) WHME—BR 2, B lim o, = 3 — 1,

B EOBWEEFN f(r) =In(1+2) = > (- 12 (-1 <2 < 1), Pu(a) =

k=1
s Pn(o)‘% = —% <0, P, (%)—% = bbb (1) L > 0,3
z € (0,5) B, f'(z) = H%« >0, PL(2) = l—a4a? 4 (—1)rlgn=t = I2C0" o

X f ) =€ =1, f1(3) =€t — 1, Bl lim 2, =7 — L
BM&EHEG LR ERORE, HEERE.
ARE1: %{L Fn(a:) ::L’+%2—|—..._|_ﬂ (n:2’37“.)’ %Eﬁ; ﬁfi Fn<SL’) -1 E (%’

n

NEWE—ER 2, H lim 2, =1 - e 1,

2n+1

=R 2: :E:%XL Gn(x) =+ g_? +eeet (2n+1)! (’I’L - 273a - ')7 %%: 73$§ Gn(l‘) =1 E
(0,1) EHE—ER 2., B lim 2, = In(1+ v2),

R9RE3: 2 S,(z) =z — w_; + %5 -+ (_1)”(217:11) (n=2,3,...), #BH: HE

Sp(w) = £ 7€ (0,1) WEME—EIR 2,, B lim 2, = 4,

N9
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